
 



 



 



 



 



 



 
 

Answer Sheets 

Rosyth Pri 1 2018 Holistic Assessment 1(Term 2) MATHS 

 

1) 18 

2) 16,13 

3) Smallest to biggest)10,14,16,19 

4) 3,10 

5a)18 

5b)20 

6)12+4=16 

7a)14 

7b)18 

8)13-4=9 

9)13-0 and 16-2 

 
 
 
 
 
 
 
 
 

10) 

11)There are 5 toys altogether 

12a)Arrow B is the shortest 

12b)Arrow A is as long as Arrow C 

13)(tallest to shorest)D,A,C,B 

14)12+2=14 

Sue has 14 beads now 

15)16-6=10 

There are 10 strawberries in Box B. 



 
 

Answer Sheets 

Rosyth Pri 1 2018 Holistic Assessment 2 MATHS 

 

1) There are 52 blocks altogether 

2) 6 tens 

3) There are 18 worms 

4) 31 

5) 48 

6) 70,90 

7) 4 tens 2 ones (42) 

8) 52 

9a)83 

9b)99 

10) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
11) 

12a)Circle 3 

12b)Triangle 5 



 
 
 
 
 
 
 

 

13) 
 
 

14)65,85 

15)1 am 35 
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